%2 B EHEHR )
1. P 3. 4, ¥ 6. 7k
(2) (3) 3) (1) (4) (5) | )5)
8. 9. 10. 11.
(H2)B)A)S) | (HB)S) | (MR)B)GB) [ 2)3)@)(5)

BERT  BE (H) &
— -~ BEE

L.

@)
H R
B 4%

A
| BEEHE TR S AR R
FRAT

B 4%

(3)

HR
BAR

FRAT

HR
DK HEAARER
D52 —x+1)(Bx—5) 2 (x+ 52> —x+1)(3x—5)

B 4%
HRAT

D (HEE HEBO - BEM GRILFIRRER)
D W ER S
AT

"."log 2000=1log (2x1000)=log 2+3 = 3.301
log 2048 =1log 2" =11xlog 2 ~ 3.311

.".1og 2000 < log 2024 < log 2048

= log 2024 8T 3.3 » HUEQ) -

F—M (=)

[x—al+|x+2al=la—x|+Ix+2al>|3al
& 6> 3a | A fiE

S.—2<a<2 o HUEQ3) .

(&)

Dlx+4+1x—8=6<12 JHEfiE

2) | x+2 1+ x—4 |=6 FERZ4HME

3) Ix I+1x1=6 5 FifiE

4) | x—2 1+ x+4 =6 fERZ4HE
5)Ix—4 |+ x+8|=6<12 fEfi#

H3EE(3) -

(
(
(
(
(

F=M CFEEEHEER)
EEEEHE

304 +b0B =(24,3b)

aOA —20B =(8a,—6)
""(24,3b) 1 (8a,—6)

S192a—18h=0=>— = — =
BOEQ) -

F—ft (ZHEARBO

= (x+5)°@?—x+1) [3x—5)*—(3x—5)) <0
= (x+5)°?—x+1)(Bx—5)3x—6)< 0

Uxr—x+1EE
B (x+5)%Bx—5)(3x—6)<0
+ + % + .
-5 5 2
3

=>x=-—5 ﬁ—;—SxSZ

EEE R F By (—5)+2=—3
HOEE(D)

6.

8.

4)

HR B (HIGE SRR )

B 42 | BESOIRIE A R T RO e s o

fadr R K SRR T AR R
@ 3 {E#&RAEE : Cx1=2
@2 [EHEE 1 {EHE - C‘,‘fox% —60
@3 HEHHEE : Cyx3!1=120
A 2460+ 120=182 FESTE T 0 HiE@) -

(5)

HE B (SENEE) -
= ( EsZen B AR S )

B4R SRRE  REHIET X B BT IRIE  EHASE
%

AT B y=p+1EBx—1) > & (0,— 1) KARF p=1
=y=x+1DGBx—1)=3x*+2x—1
—a=3b=2rc=—1
y=3sin (2x—1)=3 sin[Z[x—%H
HEFRER 3 (BAER3 > B/MEE—3)

R A 27” =r=3.14
A% y=3sin2x afaﬁzrﬂﬂsa—%%ﬁm .
1 X
(E , o) \ BOE(S) -
S

(2)(5)

HR B (EEE=t)

B 42 ¢ WEARNEAAIHEE

(1) X a fl b BFEARTAER 0 A%

@O ixt222- [x-2 =6 SRABUR x=>

X, "¢ X

=>x’=9=x=3(BF4E)

(3) X : ZERpRIIHE sin 0=3
0<sin0<1 RS

@)X P —=3x+1 TEE/NA 0 - FREE B &R ER,

o 5 2 9 ey

Bl - Ex=18F x bl ———r =10

s/ IMEA B 6
(5) O R » P Fx+1=x24+3x+5 > x=—2
HUEEQ2)(5) -

(1)2)3)@)(5)

HR
F ZAtER=APEEARNEAER - fEHETE R

B #%

FRAT

S (=Akk)

VU RIS

()OO . AD =8= AP » AE =4

EP=VAP —4AE =43

P7K(1) . ZEPA= £PAD=30"

. N\ADP Hif&E % x8x8xsin 30°=16

20O

B)O: " LPAQ= £ QAD= %xAPADz 15°



4O :%0D=x=PQ -
B FQ =4—x» PF =8—43
TEAPFQ > x*=(4—x)2+(8—44/3 2 »
B x=16—83
(S )
% =tan 15" = 0D =8x(2—/3 )= 16—83
" LAPQ= 4ADQ~90" » TU38T ADQP 55
¥ A —EEEILIUES - BB E S
AQ =2R> AD =8
SR>4 5 SYNMEEERE S R > 16n
HOEE(1)(2)(3)(@)(5) °
9. (1B)5)
HR B (FES )
B 4% ¢ AEERMEER=UE E SR AR -
BT L
R B () =2x— 1) +b(x— 1) +5x—1)+1
=2(x—2+p(x—2)+k
O f) BB (x— 1) BB /(D=1
2) X f(x) BRBA (x—1)? B98REE S(x— 1)+ 1=5x—4
O * FEBH f(x) &15
f)=2(—3x*+3x— 1)+ b(>—2x+1)
+5@—1)+1
=2(—6x*+ 12x—8) +p(x—2) +k
Ebig x* SEHAE - —6+b=—12 B b=—6
H ) =2(x—1)—6(x—1)*+5x—1)+1
S S(3)=2x8—6x4+5x2+1=3
L f(Q)=2—6+5+1=2=k
Lf)=2(x—2)*+p(x—2)+2
=f(3)=2+p+2=3=p=—1
Catp=2+(—1D=1 > H#EE1)B)5) -

5O«

FEERMR =R ek BHIIEE

g E
O X

10. (1)@2)B3)(5)
HR BT (ISR
B AR ¢ Y SR IR S A A T I e B R R

s ; 120000 _ ;500 o

(2) O = (1) » "]ECHF 7500 7T
: BE—£EAY 120000 T -
7500

17
7500+ == <7500 (16] =7968.75 f%
5 T 4EH 120000 TT ¢ 7500 B
I 15468.75 B
(4) X+ F—£5 120000 TUIEEAREINE S K FE SR
120000 (17Y" 17
= x(gj 7500( 6} R
HEHEn fli Eﬂimﬁx%‘ﬁ%

17

( -
—7500x 2 < 1000000

[
16

16
HE H Z 2 BAE T A n /0% 37
HEE(1)(2)B)(5) -

:>(1—7—) >% =9.33

11. (2)3)@)(5)

H R
B 4%

AT - (1

PRI (BB
CRESHTEEREE - M T RFE M IBIVESR  AEREH

BAETREPIE - BREE - HRAREE
)X T AERRE 52 (NTRIAEE 15 B gk

17~18 GRBAE S = PR (55 50 B %)
KRB 112~1T3 X5 B2 ABSE 11245
BAE © 17~18 BRdcE B P AL BUER 160 22
70 B S ABEE 160 A5 E - 3EE 7 A

R (B ) EL 4R

@0:

3)O : 10x70 % =7
SHVNEIRHETI 0 5 70 BB A T

(170 2253) M5 8 (171 A53) Z 8
@O B 10 ATHE R T =168 145

S EEEER

[(2 (1) +2 +6 0 +(—8) +(—6)* +(—4)*+0*+3?

10

=27 =33

(O HEfREEREMER .0>0° XY=Y-2>

THRARE ~ FREZ RS SRR |l

b=d>0 NFrABdER T V% 2 B > $uE

FREREE TR 2 B §c=a—2
HEE2)(3)@)(S) -

=~ BEE
12. 2550
Bk SBITM (BYIEGE) - B (=AE)

BAZ IR

FRAT

13. —

HR
B 4%

Pt (EAREE)
F S ERBEERSGIR R R
AT

R A =AEEHER

ay=a;+sin360°'=q;=1

az=ay-+sin 810°=a,+sin 90°=2

as=az+sin (360°x4)=a;=2

En REEC ay=a,+ 10 E 0 BB a,=a,-
BULBHIE 1102223230454 e

S S10=(1+24+3+------ +50)x2=2550 -

C B (ISR )

CHIEI B Oa , a) » FE 5 1
BERL: x+ty=a:
lat+a—al
V2
Xa>0=a> «/5
S.a=223245556

H%*%%E%v

g d(0, L)= >1=al>2



14.

13.

16.

17.

11
R

B2
: SEENE S O 4 FIE > BIOB L AB » OC L AC

AT

58.1

Hg
P IS EEAEVETIIERA
© (404 30%0.8)x0.5+ (404 30x0.5)x0.4 4 (40 + 1)x0.1

B 4%
FRAT

25
HR
B %
AT

5 ol

B #
FRHT

P (IERZ kB S )

PR =At R EPERAT

YAB=6 ..0B=0C =23 - LBOC=2T”

BRI Ay
(MW ABOC HYTHETE) — (R BOC HITHEITE)
, 27

=6x2\/§ — —12—><(2\/§) xT

=1243—4r
J.atbtce=1243+(—4)=11-

FM (PRFIE SR )

=32+22+4.1=58.1 (G) °

PR (PR RS
| BB BB E KRRk
ty=—1+logsx=y+1=log;x

HIBNES y=x %R x+1=logyy = y=f(x)=3""
H£(50) =31 = 107477151 — 1243321 — 10033211 24

#£(50) By 25 fird  .m=25 o
CEM (=AtE)
VIR -~ BROZER
S Y0TE 5% £ABD=0
A
245,
25 180°—60
0 0
B 4 D1C
cos g 20H16—-20 1
2><2J§><4 \/g

FHERIZERE - FEAACD

AC =20+1—2x245 xlx[—LJ =25

5
= AC =5
R IE % E S
AC
R, _sin(180—6) _ 5 _ 5
R 4B 2 2
sin @

()

& AE | BD*E%5 » & 2 ADB=0
A

b
2 E 2 DI

" /\ABD EEE=fA
..BE = DE =2

AE =|AB'—BE =4 AC = AE +CE =5
AC 5

_ 2sinZADC _ 2sin(180°—6) _ 5 5
245 25 2

2sin @

R
=
R AB

2sin ZADB

SFRED « IRERERIFRIEE
18.

3

4
Hk  E=EM P E8TER )

B 4% © AEEEfR B BLA AR ELBIRE 4
T JHREL P AT EIFTR

PR (CPEEEEER)
| REHRfR B RGIA R AL BIRA (4
DA E

% OF 1 AR (93855 T B T W\ BF &% BT

15
X% 2 e 3

LTI, T
20 8 T3




Q=¥ RAl

20T &
15

4 OF Fil AR {9358k T» B T ) BF th®5 » BT =
(14%)

20. NAPE W& £y

y=20

4x—3y20

12x+5y—240<0

e B (EREE) ~ F£4M (ZAtL)D

B A% AERIERIEREL tan [ERIBANE - AER 4G EEIY =TT
— U AER

«— 4
At PA ty=_x=>dr—3y=0

> 12
PE :y=— ?(x—ZO): 12x+5y—240=0

PLZTE— R EAFRAAPE B (BB EE

y20
Fy 1 d4x—3y>0
12x+5y—240<0
(O walG

>
PA 1y=§x:>4x—3y=0 247

PE 8y % (x—20) = 12x+5y—240=0 (245}
DLt —KB I AN FE TR AAPE &5, (B PIEELER) ¢

y20
4x—3y>0 247
12x+5y—240<0




